LO"S Lwés v wes e Kl £€ 7

A/[/&)
16 @)
//'/V;-r\
- . "
%o
7 - 5 ~ 2%,
(A = (> = gocx (Vo) = g‘*‘ 2
00 -; - oo
:2' go{x Z_Z/Q = 2(-‘36—?—3{() = T
cL ce 2
d o
%)
<) -2Wl 4
(K = <l (¥y = | o xe -
_ j
w&uudﬂ
-2(X\ .
<)<27A,=<"“K°W’>= fdx e 7
(a3
9.? _QM/Q et A - c_” 2
a = — ok ¥ e = a
o //‘ 4 5 2
X= @
2
% 5 p P _2x/e
d]  p(¥>a) go(x [ Yw| = g e
(= 2 = ce
oo
~2 %/
Ve (, e . a)
= - - = = o€
1 = f.=o00C8



47@)

NN

] t > Ve

g‘) /tk{/z (X) S?’/W/W_p{l/r'gc[‘ e )((/ by + Ce

¢ >’V’4 ) (5(2\01 a
oo 2 2
<) y A "":7_(3.1 "a{a-z - 2
,\/\(g(¢2>= ;U; odx € e _ e =0?
3 s —
Ve
> A
(a4)
A A r —Xz/ﬁ-a. —&)/0-?-
(UKl ys = (e x e 2T & P =0
9-77'0'1 K—-‘/————J -7
= M&%m—lﬂ __/
7 2 a .
A2 1 _ X G ~ 2
o Y, (X |¥>= L g%\’)(le e a0
2 Vai?h_;_
~
2
= ‘25'2 e—a/g'ﬁ-l > 2 ""Tz 2 _29;'2:
— el - e
Y. = g vy v € = @
K::V-:LG‘:/ 7 J



|
a) 4= <Axlxy = A" (-] )(luy - ta,s)

1)

2" (1t 1t =<y gy - <yl )

’ \——L/'v
A
- C‘a/nu°
2
— Ce“/ o
2 (v)
- 2d°Ca + e )
e -
- 2
—~> A= (2 +2e  7777)
L2
|
X
<)(> = O

718 @) A
paas
—
.._'(T/?- “?_.

4) gy/w/mdfda Veau [4@/”&1(2 L K=<

S (I F Iy e i F s e



<)

£)

es
/\(/lfl/\#}:,f_vgc(xxcasxswzx=;ﬁ\
|-T'/ o
\_/-\/
Z ¢
(cv) >
—tELE/ - E1€/,
[(20¢)> = < > + < L4, 5
54 7554
()O X[ R (XS
i, -5,)¢,
4 4 ¢ c1e Cylely
T2 (X>'Y; 2 )(ZV,, 2 ,
\;ho/ \:: ~((E,~E) €/, = 16/ap
1€ AN
= 16 cos (wt) ) o= E,-E&
2T u b

[PRATS cs 2 (Uemlt K E\og Co

Caa Uos feu L. corir e |



